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1) Fillin the blank with the correct option:
is used to measure horizontal and __——

vertical angles. qﬁ%ﬁﬂwwgﬁ

A) Prism A) fisa

B) Compass B) &9

C) Theodolite C) Pt ¢
D) Plum bob D) ¥ At

steel 2}mﬁﬁmﬁﬂﬁaﬁ#ﬁmﬁmﬁ?wmﬁw

2) Where should you implement the

reinforcement in a singly reinforced beam? gt HEAT AMRY7
A) Neutral zone A) T S
B) Compressive zone B) Ffeda i
C) Tensile zone C) e o "
D) Both tensile and compressive zones D) FeTeet S FEATERA S F1AT
3) Fill in the blank(s) with the correct answer: 3) wdt 9T & wrg e wgma Wl
__ EDMs can be used up to a range of 100km while _EDM T 39T 100 Feft i e oo G s a=r
_____typeis used with a range up to 3km. Foafy v v ganr 3 et o f i & A
A) Infrared, microwave ot STTT 21 '
B) Infrared, visible range A) TFIE, ATEHIET
C) Visible range, ultraviolet B) hieE, fafeme &
D) Microwave, infrared C) fafvrae i, stegramaste
D) HTEHIAE, T

4) Whi .
) Which among the following is a constituent of a 4) FrrfRrfRre # & 17 T srseft €2 1 T2 &2
good brick?

A) Alumina A) TEEAT
B) Stee] B) &
C) Gold C) ee
D) Copper D) FiuT
Pagezoriad




www.prepp.in

16 H

5) Fill in the blank with the correct option:
Mansard Truss is a combination of

5) it it & fer v 1 7fF A :
and #dgE s gw w8

_ ftrusses.
. A) e &, i T
) Purlin roof, Queen post B) wiee i gz, wirE i G

B) Sloped king post, Sloped queen post C) =i, fr 9=

C) Strutting, King post D) i 9=, i 9

D) King post, Queen post
6) Fill in the blank with the correct option: 6) Wt Faeew & ey warre 1 ¥ ST - :
Fine aggregate can pass through 1.S. sieve of wrerwifiiiz ____ #t |.S st (i) F g

GETIE ]

A) 13 mm A) 13 it
B) 10 mm B) 10 faft
C) 4.75 mm C) 4.75 faft
D) 15 mm D) 15 faft

7) You have a plain and reinforced concrete footing 7) T T STHIR T T e e g i

leaning on the ground. Which of the following TaT gam &1 i ¥ fmt e siverd(t) ¥ forg st fawr
limitations should you maintain for the thickness(t) at 3 I Y <ffa T Tet i

the edge of the footing? A) T >= 35 &t
A) t>=35cm B) T >= 40 #ft
B) t >= 40 cm C) T>= 158t
C)t>=15cm D) T >= 25 &t
D) t>= 25 cm
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11) Match the following ratios 11) ez ¥ FrerferfRrT et (i : & 2 wiffied ) #

(cement:sand:aggregates) of concrete with their T3 3T & gafa Hifs:
respective uses:

a. 1:2:2 1, st yarst, #7 F piEw sz % fFw

a. 1:2:2 1. For heavy walls, foundation b. 1:2:3 2. RCC 7 &ToT=a #14 S #ifzat, €,
footings, etc. Eare: e T

b. 1:2:3 2. General work of RCC such as ¢, 1:2:4 3, wret it S, qe, et Wik %
stairs, beams, columns, etc. o

c. 1:2:4 3. For water tanks, bridges, sewers, d. 1:5:10 4, qrdY &= arer RCC Hiww i< &4t
etc. ' w F form RCC sm=e

d. 1:5:10 4. For heavy loaded RCC columns

and RCC arches of long spans A) a-4, b-3, c-1, d-2

B) a-4, b-1, ¢-2, d-3
C) a-1, b-2, c-3, d-4
D) a-4, b-3, ¢-2, d-1

A) a-4, b-3, ¢-1, d-2
B) a-4, b-1, ¢-2, d-3
C) a-1, b-2, ¢-3, d-4
D) a4, b-3, ¢-2, d-1
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14) Fillin the blank with the correct option:

] Is the term used to define a brick cutin
such a manner that its one long face remains uncut

A) Quoins
B) Templates
C) Coping
D) Closer

14) Tt ety & s w1 o

TF T we w1 afonfis w07 & g
TERIATS BT et e 91 & ot €2 T U A At
H A w2 ar

A) g
B) Ty
C) =ifr
D) FI

15) Malch the following, in context of the leveling
staff.

a. Self-reading staff 1. The smallest division is 5
mm. its length is about 3 metres.

b. Saolid Staff 2. It has a moving target
against which readings are taken by the staff man.
The sliding target comes along with the vemier.

c. Telescopic Staff 3. The readings are always
taken from the telescope hence appear inverted.
Therefore, readings are taken from downwards.

d. Target staff
lengths of 1.5, 1.5, and 2 meters when stretched out

fully. Normally, its total length is 5 metres

A) a-1, b-3, c4, d-2
B) a-3, b-1, ¢4, d-2
C) a-3, b-1, c-2, d-4
D)a-3, b4, c-1, d-2

15) S=feT =1 % wa # Paff f gafe ffmo
a. fen-ff¥w =rs 1. wad grer e 5 fed &
THHT TS T 3 W B

b. Hifee =rE 2. zaaT w wiashie @ & e
g = &7 g ffFT &t 9t 21 =i e
afF g ¥ arg s 21

c.ereRIfdFwrE 3. fiffw ghar Ry & of st
2 FAfT 7g weet famd ¥ar ) gwfe, AT A fiw &
fera smar 21

d. TEE =R 4. 5 =5 Tt T & e wmar

4. It has three telescopic &, It &t e gealte siare (Gefr=ifm &) 1.5, 1.5 #ie

zﬁaﬁlmaﬁﬂﬂﬁﬁﬁmﬁﬁﬁﬁ@?ﬁ'%l

A) a-1, b-3, c-4, d-2
B) a-3, b-1, c-4, d-2
C) a-3, b-1, c-2, d-4
D) a-3, b4, c-1, d-2

e ———
Page 7 of 144



WWW.prepp,in

16 H

th the correct option: 1ﬁjﬂﬁﬁmﬂ'ﬁ?ﬁmﬁr=ﬁ’r1ﬁaﬁﬁq;

16) Fill in the blank wi
refer to the dispersion of solid or liquid AT # g AHT (AT i
particles of microscopic size in the air. AT T Fit 6 e A dafifa w2
A) Aerosols A) @ﬁmﬁﬂ
B) Halogens B) &t
C) Radioactive compound C) ¥fEanrdt AT
D) rer FfAwe T (4¥)

D) Photochemical smog

17)aﬂﬁmﬁwﬁﬁrﬁﬁqwmﬁq@

below statement: & B T FA &
distances obtained by tacheometric AT e g o Afee T # I

observations

17) Identify the option that correctly completes the

Horizontal

A}Ww(ﬁqmﬁwﬁg
BJWW(WWJE&W%%
c)maﬂwgﬂgﬁmﬁmmaﬁ@ﬂg
D)aﬂaﬁtwwsﬁrmmm@?ﬁa

A) require slope correction.
B) require pull correction
C) do not require slope and pull correction

D) require pull and slope correction

18) In the process of metallizing,
in present practice of painting of bridges in Indian

1a)mtﬂrﬁsrﬁmﬁ,ﬂmﬁﬂia%ﬁ3?ﬁﬁﬁﬁn#

which metal is used
aﬂﬂﬁmﬁﬁnm@mgﬁﬂwm@

Railways? A) STET
A) Zinc B) frae
B) Bronze C) aisT
C) Copper D) wrar
D) lron

Page 8 of 144




www.prepp.in

16 H

19) What would be the total Pressure on g
submerged block making

surface?

19) (where A is area submerged and x is gauge
pressure on an elemental area (yh *))

LA [AE & ATT FIT O FATH T TAHY (FI07E) =HH
T T TATT A HE

. are the distance of (srgt A sy @ & i x e 2ditEe uftar o = =T
the centroid of the area from the free surface of the

an angle O with the fluid

(where Ais area submerged and x is gauge pressure
on an elemental area (vh*) and h*

& (vh *) 3 h* 7 ft o5 wag 3 e e AT T )
liquid
iquid) -t
A) XA
B) xA sinO
B) xA sinO
C) x sinO/A
C) x sinO/A —
D) Ax/sinO

20) Arrange the following steps in ascending order of 20) srfé gert ¥ fary Frsfarfam =it 1 wrTsr #7 &

removal of shuttering: i 55

a- Shuttering forming soffit of slab a- ¥XF F7 qifthe = arer refor

b- Shuttering forming soffit of beam, girders b- 1w, FrEd ¥ gtttz T T =i

c- Shuttering forming the vertical faces of walls c- FETET ¥ Featu ¥ ¥ e aefar

d- Heavily loaded shuttering d - srferanfea refior

A)a,b,cd A)a b, cd

B)d,c,b,a B)d,c, b, a

C)c.d,b,a C)c,d, b, a

D)c,a, b, d D)c,a, b, d

21) Fill in the blank with the correct option: 21) =gt e & fis v  ofF fiftre

is prevented by the shear RCC ¥ farax fmireiz gmr 1T ST 21
reinforcement in RCC.
A) FFET

A) Caving B) ¥=afir

B) Tempering C) gutetfd

C) Superheating D) fa=vf aam

D) Diagonal tension
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i 1. Estimate of a. fitve qeftte 1. whirar ¥ e afafies wrat a7
additional works during the process

b. Supplementa i I b

L ry estimate 2, Prepared for b, THAHE TeHE 2. e 240 (AT (2H) 9T
approx. rates iﬂltﬂa""‘,lr S[EATT # 97T FiT AT )
c. Revised estimate 3. Includes details and c. fargee ueftie 3, ge et %7 R drc e anfie
cost of everything 2
d. Rough estimate 4. Prepared when the d. 7% Tetie 4, F0Td 5% & sfgw g 9% d9T
costs exceed more than 5% ETIKITI

A) a-2, b-1, ¢4, d-3
B) a-3, b4, ¢-1, d-2

A) a-2, b-1, c-4, d-3
B) a-3, b-4, ¢-1, d-2

C) a-3, b-1, c-4, d-2 C) a-3, b-1, c-4, d-2 '
D) a-1, b-3, c-4, d-2 D) a-1, b-3, c-4, d-2
31) Fill in the blank with the correct option: 31) weT e ¥ fes = i i fifem
is a preliminary inspection of the area to e EfET # 99w F F as wr
survey in theodolite traversing. wrife e (R <emeam) 21
A} Selection and marking of stations A) TEIAT FT T AT s (ATET)
B) Measurement of traverse legs B) 2w} &9 T ATAT
C) Computation C) rorET
D) Reconnaissance D) CTEa

32) Out of the following options, what will represent  32) = ¥Tf¥= i g AR & it % difdrer Aror
the horizontal angle between magnetic meridian and #r Fafaie & § G BT g gaiar s 27

true meridian? A) FEsror o7 (Resser )
A) Deflection angle B) afFAer 1o (g2 e )
B) Included angle C) s (=)

C) Declination D) AfRHT H1 (TR ore)
D) Excluded angle
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33) Match the following air polluta

respective sources.
a. Oxides of sulphur 1. Pesticides, pints,
|laboratory.

b. Mercury 2. Petroleum industry,

wastewater treatment, oil refineries, etc.
c. Hydrogen sulphate 3. Glass and ceramics,

cement factories, aluminium industry, fertilizer
industry etc.
d. Fluorides 4. Power house, smelters,

coal and other fossil fuel combustion, etc.
A) a-4, b-1, ¢-2, d-3
B) a-1, b-4, ¢-2, d-3
C) a-4, b-1, c-3, d-2
D) a-1, b-4, c-3, d-2

nts with their 33) Fefafe arg wgust F1 375 a7 & gHfea Ao

a. AR & aAFrsE 1. Frewwers, e, v
b. ALFL 2, Eiferaw g=, avfie a9
IYTE, a1 Femreat anf=)

c. GRS Wehe 3. Wi i ST G it <A,

iz FraT, TegHiATT e, gdE e anf
d. wTEE 4. I g3, Feel, FITET AT

A SitaTew $g 7 g, i

A) a-4, b-1, c-2, d-3
B) a-1, b-4, ¢-2, d-3
C) a-4, b-1, ¢-3, d-2
D) a-1, b4, c-3, d-2

34) A single room of size 5m x 6m enclosed by 20cm
thick wall has to be constructed. The required
foundation trench is 60 cm wide and 80 cm deep.
Find the quantity of earthwork in excavation.

A) 120.5 cu.m.

B) 10.94 cu. m.

C) 109.4 cu. m.

D) 12.05 cu. m.

34) 20 Fft FrE Frare & foy 5 MeT x 6 Frex F F
e FY 1 AT fT s 1 e ia A ard (@)
60 &eft = s 80 AT Tt &1 FeEA (TFAFALA) A
sroferds ot wrET W Frfn)

A) 120.5 FHIET

B) 10.94 g=#izT

C) 109.4 THieT

D) 12.05 gaHteT
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35) Calculate the water required for the concrete mix 35) ##iz T ¥ forg sraeam Tt (e #) i o=
(in Gallon) if the water cement ratio is 0.6 lires/kg ¢ af% "t #ifz srqarar 0.6 fiesikg € =T 70 et

and 70 kg cement has been added. Hidiz f=mar @ 8

1 US gallon = 3.78 litres 1 US frere = 3.78 wfedl
A) 11.66 A) 11.09

B) 10.50 B) 10.5

C) 9.70 C) 9.7

D) 13.33 D) 13.3

36) Which of the following term is NOT related to 36) firefarfere & & #iw @ g Fr{zs qaerT & Hafow

tacheometric surveying? Tl 87
A) Multiplying and additive constants A) Multiplying and additive constants
B) Subtense bar TR (AfRzeATi) T AT (TR FiE)
C) Stadia method B) Haew 91¥ -
D) Radiation method of surveying C) w=fEar fraw
D) FaeT F7 FuAT HIE

37) Hydraulic lifts best depict the application of which 37) grssifes foree Fufefas # & e s |

of the following? HaTTH 9 I Tl 27
A) Hooke's law A) g5 @1 FAgw
B) Pascal's law B) 9T &7 AaH
C) Sombre's law C) = =1
D) Len's law D) @ =7 e

38) Calculate the capitalized value of a property if it 38) ﬁﬁﬂﬁﬁr%@ﬁqﬁm (Fe=res= =) Y TorET
fetches a net annual income of ¥ 15 hundred and the X M2 g 15 91 304 Kt & i 9 e war & 5w

highest prevailing rate of interest is 5%. IgaH g =T 2T 5% %I
A) % 10,000 A) 10,000 =73
B) ¥ 15000 B) 15000 &7
C) ¥ 40,000 C) 40,000 =93
D) ¥ 30,000 D) 30,000 =73
_F‘_aﬂﬂ 15 of 144
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41) Fill in the blank with the correct option:

41) wet e & o v it g Ao
Irregular projections appear on the body of timber #w =7 # = (erf) ¥ Freor wet (Revar) & arfi w
because of shock at younger age is known as sifrafir werqor (FTEIT TrSraer) FETH
P ST ST 2|
A) Callus A) Fer
B) Coarse grain B) #rd i
C) Foxiness C) i
D) Burls D) =

42) Identify the soil that gets accumulated at its place 42) 3% [EREIRERIEE S IR R GRS IE {W 9T

of origin only. & ST (THERE) Y ST )
A) Glacial soil A) @it

B) Residual soil B) fersqer= gt

C) Transported soil C) zr=tes gt

D) Aeolian soil D) wairferaw gt

43) In context with plane table surveying system, 43) S8+ Ta«l HALOT Wit % Fw=d § FwfefaT s

which method is being expressed by the following =T fr f&fYr %t =v% T s @ 87
diagram?

A A
-

P M

]

[
r

=1 a

e

A) o fBfe
A) Radiation method B) @irae & fafer
B) Open traverse method C) F=iree 294 Ry
C) Closed traverse method D) T f3fer )
D) Intersection method
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ding underwater. 49) AT Y ¥ siET O wad w1 A w6 g 0y
be used in such WRgew ¥ e waR ¥ A (ATEH) FT ITAT BT a1y

49) You have to construct a buil
Identify the kind of lime that should

a scenario. TR, T TR 1
A) Raw Lime A) It \TEH

B) Hydraulic Lime B) gTegIfer® @TsH

C) Quick Lime C) fir sz

D) Salt Lime D) e wTEH

50) Heavy loaded R.C.C columns and R.C.C arches 50) arft wre arer st Ftew ST W W F
of long spans uses mortar composing of cement, m.iﬁ'.ﬁrﬁaﬂir%ﬂaﬁﬁ%ﬁﬂ?.i‘ﬂﬂ?qﬁﬂz#ﬁw
sand & aggregate in which of the following ratios? o7 farer syt & STANT AT 87

A) 1:2:2 A) 1:2:2
B) 1:4:8 B) 1:4:8
C) 1:5:10 C) 1:5:10
D) 1:6:12 D) 1:6:12

L
51) Identify the type of roof from the image shown 51) 3 R g fore & & (F) F 991 £ =

below:

-
A) ffr T €
h
A) King post roof B) EEHL'T
, C) FIA I T
B) Purlin roof
D) fi T &

C) Couple Close roof

D) Queen post roof
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56) Which of the following machines can be used for 56) forsr & & f wefter F1 ITAT Fadt g Frgmm %

the top-soil removal? foro o <IT aFaT 87
A) Jackhammer drill A) SFeme 3w
B) Scraper B) &<
C) Shuttle car C) 9= FIT
D) Shredder D) &3%
57) Fill in the blank with the correct option: 57) wat freey & fien v 7 7T ffog
Shuttering of beams spanning over 6m should be 6 Htex & aiftr &t i & qeferar _ % r -
removed in . ST SR
A) 10 days A) 10 B
B) 21 days B) 21 R
C) 5 days Bty
D) 7 days D)7 R

58) Electromagnetic waves are least affected by 58) fae Ty ad¥ Fwfafes # & fr farftex &

which of the following parameters? qaE FATATET LN Sl g7
A) Air temperature A) AT & ATIHTT
B) Atmospheric pressure B) a1 - =19
C) Vapour pressure C) aTeq FT ZaT9 (F9T 917)
D) Wind speed D) gar #it
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59) Specify the name of the test done to analyze the 59) wwifirg s F1 v F06 Sz (F7w) 6 -
composition of loam using the reference image:  farrer At 3 fore f T e 57 T FfSE A

PP | . '-‘.l""?'ﬁ:‘i'
- . Ry .
W0 9 W gy
i A R P
¥ | AR PN
g . on iy
A) Nibble test A) Faw =
B) Ball dropping test B) afer giftir & y
C) Cohesion test C) Higan &
D) Consistency test D) #fa=dt =

60) Specify the name of the brick used for the image 60) f@my Tu forr 3 forg wes <2 @ 7wy RfdE 4
shown:

A) ¥t g=T
A) Splay header B) ¥ &=
B) Splay stretcher C) sfr s
C) Dog leg D) 337e 32

D) Beveled bat
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61) Consider two fluids having specific volumes as s161) s1 3T s2 F &y # fafere Wrﬂ% &1 9% TeTdt gy
:1 <2. What would be the relation between their fE=TT F¢1 7% geqwT e (T8 SR (FF4 d1 4
an .

ass densities (d1 and d2 respectively) if s1 <s2?  d2) F i Far g g AfE 51<827

A) d1>d2 A) d1>d2
B) d1=d2 B) d1=d2
C) d1<d2 C) d1<d2
D) cannot be determined D) fruffe 72F fram s a&dr >

62) You have to ftransform kinetic energy to 62) AT I Hort I gTag STAATIHF il § qawAT g
hydrodynamic energy. Which of the following should ITisF sifaLer #t F<d ¥ forg swoer = # & Freer

you use to perform the above operation? FYFHT FLAT ATRT?

A) Displacement pump A) faearas o7

B) Mono pump B) #rHT 9q

C) Reciprocating pump C) *fevrerfdar 94 -
D) Centrifugal pump D) F=Ergarer 9 |

63) Identify the technique generally preferred for 63) I Wil &t Tg=TT * fordr smw ate o< famft ©®
contouring rough country where ordinary levelling is & ¥ @l ¥ forw fmm smar € st s awaes

tedious and chaining is slow and inaccurate. FiS (AR F=feT) grar § i 3T fieft sz o
A) Compass surveying (FTFLEE) Bt &
B) Tachometry surveying A) FHITH HAET
C) Plane table surveying B) ZHIAET HarGT
D) Levelling C) @I &= wa T
D) wrafeir

g
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which is used to measure distances using principles #Te a9 37 FT 3797 Fang e Fofiar wdferor 3 i
of angular surveying without using a chai'

N or FT IUAET FTF g 1 W ¥ Rra B siar &, Far:
measuring tape, the additive ang Multiplying e (uffa) sie o e (wfeewarfiT Fiez)
constants respectively are: i

%
A) 0, 100 A) 0, 100
B) 100, 0 B) 100, 0
C)0, 0 C)0,0
D) 100, 100 D) 100, 100

65) In a closed traverse with five sides, the error 65) T YR AT A<iee dAd f, sfaw @ F B
found from the fore bearing and back bearing of the faraf&T sl & ST & arE € qfe + 1° F) fed s

last line is + 1°. The correction to the third line will be: HHUTT (FLF9) EAIT:
A) 0°24

A) 0°24" .
B) 0°36° B) 0°36"
C) 0°48" C) 0°48'
D) 0°12° D) 0°12'

66) From the given options, identify the tool used by 66) f&q w7 fedy & &, BY AT Fitee AFfesT vy Foy

engineers to get constant leveling each time. F fow SSfifd e swimr B sy IYFLT
A) Tribarch TR A
B) Auto Level z A) ZTéaTE
C) Theodolite B) 3t et
D) Abney Level C) Freetarree
D) =% et
“Page 75 or 144
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67) Fill in the bla nk with the correct option: 67) et fawer & i #H £t gfif Fiforg :

ht line method, constant percentage method, ﬁﬁwaﬁqﬁwﬁw}_wmﬁ@[m

thod are TGS HYE), Framor ffy Ry (R o fe) de
qrr wiew A @RS g #4E) @

Straig
sinking fund method and guantity survey me

used t0 dEterming ..o eersrrmeretss s
FT Praffe e ¥ R i s &)
A) Depreciation
B) Salvage value A) TeagT™E (efafermer)
C) Municipal taxes B) greras 4¢g,
D) Annuity C) ATATTerHr T
D) afifY (Tg=e)

R il

68) Consider the
one(s) that are varied

following properties, identify the 68) frafere Tl 9T e L, 39 A0 A qE=T L
with a variation in effective S et qeTE (i wE) A qftade ¥ g9 afafad

stress. g &l
i) Compressibility i) eifresraT (Fefafatee)
ii) Shear strength if) srereeror arfRe (fra #69)
iiiy Permeabiity i) wrreTerET (i)

A) i and il A) i #Ti -

B) i and iil B) i i il

C) ii and i C) ii S il

D) i, i and ii D) i, ii T ii

69) Specify the correct formula for ‘Year's purchase’ g0) A3 f T Rt § & E T F forg &t T
from the below mentioned options. fffe #

A) 100/ rate of interest A) 100/=4TS =T

B) 100/ net annual income B) 100/ g TS A

C) 100/ gross income C) 100/&e A (TTH FAFH) -

D) 100/ market value D) 100/aT=ITT &4

e
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70) Identify the most accurate brick bond shown in 70) o # ey T g2 dw (B atee) @ wdwar &

the image: TR
LT L TOTITI |l|'f.|| AT IRl
Fioa jor 1,4, 8 coursey Plom po LLS cozroe " Piom por 2,4,6 courres Flen ror 145 coirsax
A) English bond A) Efvear afve
B) One and a half brick Flemish bond B) ¥z Sz wifaer afee
C) One and a half brick English bond C) 3z gz 71 ifwyr afve
D) Flemish bond D) wfier i+

71) Consider a 12 inches high slump cone having 8 71) sfief 7z 8 %= = a7 12 ¥ &3 & oigy 7 RB=
inches in diameter at the top. How many layers of ®{I 39 4% $ 937 ¥ o srowr defie 6 frat oo

concrete should you place to fill this cone? TET FTfEu?

A) 3 equal layers by height A) 3 FTET 9 (FH1E F)
B) 4 equal layers by volume B) 4 L= I (s )
C) 3 equal layers by volume C) 3 T I (T )
D) 8 equal layers by height D) 8 aTma e (s &)
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72) Identify the inst

A) Dioptra

B) Theodolite
C) Graphometer
D) Geodimeter

rument shown in the image below:

72) i R e e 3 R T ST T TR

ey

73) Points A and B are 1600 m apart across a river.

The reciprocal levels measured are:

The true difference between levels Aand B would be:

A) 1.542m
B)2.64m
C)1.165m
D)249m

73) fifg A 9T B T T ¥ AT 1§ﬂnwﬁztrﬁa;&ﬁﬁ|
mwwﬁﬁm&ﬁﬁﬁm}ﬁ:

A AaﬂTB-i‘riﬁi'ﬂﬂaiaT'@Tm

A) 1.542m
B) 2.64m
C)1.165m
D) 2.49m
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ﬁﬁsﬁWw(&ﬁaﬁme:

i re ~4 S AT AT T )
ant of passive presst | af% Kp=4 & )
g Sk e fficient of active & fer AT g mﬁhm

is given by Kp. What would be the coe i 2 !
pressure if Kp=47 X ]B l
. B) 1/4 -
B) 1/4 i |
Cul D) 1/2 |
D) 1/2 i
— Py & I AT T A T Ay

84
g4) Which of the following grade of concrete falls )

i o oy Syoft # ST 87
medium strength FHIT
under the category of standard or
A) M 40
concrete? )
A) M 40 B) M 15
B) M 15 C)M 20
Cc)M20 D) M 65
D) M 65

i T e s
85) Which among the following is not used for setting 85) frmferfaT 3 & AT T |

out right angles? v 7t R smar 22
A) Offset rods A) ArEE U

B) Cross staff B) HIT &1H

C) Optical square C) sitfeeser &<

D) Prism square D) firew =prae

i

__ue

g6) Raw material for cement manufacturing is Bﬁliﬁﬁzﬁﬁh%ﬁuwmﬁqﬁﬁﬂﬁﬁm
quarried from which stone quarry among the ﬁw%%ﬁmg?

following? A) Free
A) Granite B) iy

B) Marble i

C) Basalt D)

D) Limestone
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the given scenario?

A) Calcium carbide method A) FfRerw wratee R
B) Pycnometer method B) wras e fafer

C) Pipette method C) fade fafer

D) Oven dry method D) st g% fafyr

88) Identify the surveying instrument shown in the 88) Rt & fam 1 & ¥eror waror ¥ T F:

image: S
g
& i &
|l = L
% 'wﬁ £ 4
ViE | |
;== A)
A) Pegs B) #irwE Tigw
B) Offset rods C) ¥ <=
C) Ranging rod D) T
D) Arrows |
89) Fill in the blank with the correct option: 89) wet fA%eT § Rer v it ofF i
Instrument error that is independent of distance T9=Twr T it EDM # wrft w8 T & =T ol 2,
measured in EDM iscalled _____. — FEEt gl
A) Scale Error A) & g
B) Zero Error B) sfidr Ffe
C) Cyclic Error C) srsfs I
D) Non-scale Error D) wi=-het 7fe

R
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rder with g) I AT . 5 Ty
. in O er 4
g0) Arrange the following Process . Wﬁﬂ'ﬂ' ( ) |
context to water purification: p- fAedad (™)
a- Disinfection c- STHTAE (W)
b- Filtration d AT (a:-ﬁﬁfsﬁ)
c- Coagulation AL {qﬁﬁ“{am)
d- Sedimentation
: ati
e- Flocculation A1 6,80, b, a
. -
A)c e d, b, a B)e.cdb
B)e,c,d,b,a C)a,b,cde
C)a,b,c,d, e D)c, e b, d, a
D)c,e b, d,a
91) Fill in the blank with the correct option: 91) wdt e & e v Y IS il :
The calculation of sinking fund depends on the life of RfT wue FT TIAT FoT ¥ oftew (FafesT o) &
the building BNd ....ccccvesceuirernnnnennaens Of the TETH covvveeeeeeeersssneenesr. T AHT F
building.
A) s Fit Frra
A) Cost of land B) 3 aw{
B) Salvage value C) s 3?{
C) Market value D) & ‘é’ﬁﬂg;
D) Scrap value
92) Identify the instrument that is proficient in qivi - N
giving 92
the rate of flow as well as the total flow, %Emﬁqﬁﬁﬁﬁmﬁﬂ(ﬁmﬂ
A) Orifice meter A M-HT‘-?T T WaTE (Frew i) B H A
B) Lobed impeller fiow meter B) Thex
C) Peizo flow meter ) ST SR o e
D) Anemometer C) it weiy ey
D]‘ Q';ﬁ"h'iﬁ?( 4
“Page 34 o 143
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97) Consider the given statements, identify the ones 97) R 7 Tt o =T 7%
that cannot be executed with the help of a typical 57 Fuet fit wgar #¢ R wder # AT

theodolite in surveying. e 6 geraar & Renfe 78 far o a5 gl
i) Measuring horizontal and vertical angles

i) &fdst s Featac Hroif A wro=T
i) Measuring horizontal distances NEIRES T W
iii) Determining the area of ground fii) ST 3 rereer s Frafo

iv) Locating points on lines iv) TETEr a% feigeir &1 = e EF.T&T

A) i and iv

A) il #i iv
B)iand iv B) i s iv
C) i and iii C) i e jii
D) ii and iii D) i 3 ii

98) To determine the compacting factor of concrete, 98) @itz ¥ HF=w F1eF (FreafFeT daez) Fr Fraife
which among the following formula is used during %= ¥ forT aF THet ¥ <o e § 5

standard tests? A T IIANT 3 e 87

If Weight of partially compacted concrete- A 7fF FiferF &7 F w5e Fhe FTasT- A
& Weight of fully compacted concrete - B & ot &9 ¥ A~ Fwhie 7 a7 - B

A) A'B A) A*B

B) A/B B) A/B

C) A+B C) A+B

D)A-B D) A-B
mmng the following is helpful'in reducing 99) FHTeTE™ # ¥ T4 srvtta auf Fy %7 07 LEEED
acid rain? 87

A) Gasification A) fefror

B) Using coal for power generation B) fersreft seama & forg sy &1 ey
C) Using high sulphur coal C) 37 oL F FT ITAT

D) Sulfurization of fuel gases D) o= st T wewerE e
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103) Let the force is given by F and displacement is 103) ¥+t 3 fi @t F gy ahe freamaer D grer feam it
given by D. If the values of force and length are &1 af¥ 7o ofT w=Ts & Wt Fr 3@ wrC deirtoa BT

modified such that: wmar § B
F=2F and D =3D F=2F#kD=3D
What would be the final value of energy in such a TFr fRufdr # st w7 sifier v (wreee &eg) A9 w1
scenario?
A) 2F/3D
A) 2F/3D B) 3D/2F
B) 3D/2F C) 6FD
C) 6FD M 1/6FN
D) 1/6FD

P

104) Which unit in total station is used for the 104) == fw u Far i rorT F forg Erew <o |

computation of data collected? THTE FT ST FT AT 87

A) Data collector A) ETeT FelFex

B) EDM B) EDM

C) Storage system C) e e

D) Microprocessor D) ATEHRITIEET .

105) You wish to check the quality of timber with the 105) 3T &=f% it wgraar & w=%#t (fo=mw) i =T it
help of sound. Which of the following way should you = Tt =g 81 Ut Rafar % ferg smasr frer & &

use for such a scenario? f&fer %1 SoETr AT SrfRn?
A) Timber struck by hammer A) gaTE & s () 9T Site Fr 4
B) Two timber pieces struck together B) weT (<) F 31 THEt 1 | § EaeeT
C) Timber tapped by steel square C) =EieT T g1 w1 (Rva) i digw (2
D) Timber knocked by chisel D) &t & 2t (fevaw) = e Fm
_53-59_39 of 144
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110) You have given a soil sample with Poissg
ratio of 0.6. What would be the coefficient of earth

pressure at rest in the given soil by applying the
theory of elasticity?

A) 1
B) 1.5
C)0.7
D) 1.2

n's

110) MTHT TG 3 0.6 ¥ srarer aer i avr ey 2T
& TR & Rz 9w w0t & & wf P &

111) Match the following classification of glasses with
their specific uses:

a. Soda lime glass 1. Used in the
manufacturing of glass articles which have to
withstand high temperatures.

b.Potashlime glass 2. Used inthe manufacturing
of artificial gems, electric bulbs, lenses, Prisms, etc.

c. Potash lead glass 3. Used in the manufacturing
of glass tubes, laboratory apparatus, plate glass,
window panels, etc.
d. Common glass 4. Used in the manufacturing

of medicine bottles

A) a-1, b-3, ¢-2, d-4
B) a-3, b-1, c-2, d-4
C) a-3, b-1, c-4, d-2
D) a-1, b-3, c-4, d-2

1) &= (wma) F Frefafe affeor 5 o fifte
SUAN % T GHie Fifr:

a. WIET &1EH W 1. I7 T ¥ TEge F At
¥ v g I 91w St gEar &)

b. TreTer FTEW W 2. Fw @, et ¥ v, ¥4,
rw, sfa & o # wen)

C. WIS HE VTN 3. F ¥ =, TARTLTAT S,
wie WY, faEft F §=w, o & fwio & swdnr
STt 81

d. & Fi= 4. zar §t St F fawfor § v

A) a-1, b-3, c-2, d-4
B) a-3, b-1, c-2, d-4
C) a-3, b-1, c-4, d-2
D) a-1, b-3, c-4, d-2
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115) Total Station can directly be used to calculate:
1) Horizontal angles

2) Vertical angles

3) pH of the water

4) Sloping distances

5) Level of PM2.5 in air

Which of the above statements are correct?

A) 1,2 and 5 only
B) 1, 2, and 3 only
C) 2, 3 and 4 only
D) 1,2 and 4 only

115) e B9 *T T iy T ¥ e fr W
T g

1) &t o

2) warae Hor

3) 9Tt #T pH

4) areg gl

5) a1 PM2.5 7 &7

UL § R T aa 2

A) FT 1, 245
B) ¥aw 1, 2, &7 3
C)#aw 2, 3#T 4
D) #aw 1,2 3 4 "

116) From the given options, identify the statement

that accurately describes the total efficiency of a

centrifugal pump.

A) The ratio of manometric head to the energy
supplied by the impeller per Newton of water

B) The ratio of energy supplied to the pump to the
energy available at the impeller

C) The ratio of energy is available at the impeller to
the energy lost

D) The ratio of actual work done by the pump to the
energy supplied to the pump by the prime mover

e

116) T ¢ st & & 3§ F97 6t vgaw st 9r v

SRS 7 Y F e (e afbfrde)  adad

ERCETGIE-(

A) BT g ol T g Wi 9T F g § o
A it 7 St FT s

B) W i srafi At a1 it siv Trre F Sverer Sut w7
SRR

C]Eﬁﬂrﬁmaﬁﬁaﬂrwwaﬁﬁ(ﬂhmﬁ)
RAEERIE]

D) 1 &1 fo0 1 e & e strew e ¥ g v
I ATIF it 7E it s

Pana A9 ~f 144
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200 fareft *400 Fft oz fgy
Fler FT AFL #
123) Given the size of column as 200mm*400mm 123},5;[31- (@afar saferdT) 150KN/aTHTeR %\:mﬁﬁm
and soil bearing capacity of 150kN/m?, Assuming the aﬁ%. +fiz ire M20 i< Fe 415 AT A 3y gy
concrete grade of M20 and Fe 415 and total weight T

KN W ?ﬁﬂ'% Wzﬁ I|U|i|| ﬁ'
as 330 kN, calculate the area of footing. ’
A) 2.42 m? A) 2.42 FHHTET
B) 3.42 m? B) 3.42 aﬂftﬁﬂ
C) 4.24 m? C)-4.24 &z
D) 3.08 m? /D)3.06 FHIET

124) The wholé circle bearings of lines A8 and BC 124) @t AB ¥k BC #i ‘Ff'i("'f EAl ﬁ?ﬁ“ (B wfEy
are 20°15' and 100°30". What is the included angle faafimr) 20°15' 3ii< 100°30' &) T&@T=i AB X BC ¥y
ABC between the lines ABand BC? afenferT HT07 (Tragee Uie) ABC STd F7

A) 90°15' A) 90°15'
B) 99°45' B) 99°45'
C) 229°45' C) 220%45
D) 100°15' D) 100°15'

125) If the spacing of cross-hairs in a stadia 125) af2 T=pflec %

_ =R sramem § we-gm A gl
diaphragm of a tachometer is 12mm and the focal 12 firft 2 sire sitedree AT Y e wars 24 A E @
length of the object glass is 24cm, then multiplying Fnfter 7 |
constant of the tachometer is:

T Rerti (afRewmii wice) &

A) 20

A) 20
B) 100

B) 100
C)0.

C) 0.005 ) 0.005
D

D) 200 ) 200
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